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and is often denoted µ .
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Question : xsdrst.fm center
shoot an arrow at a circular Elr) - { 92 or

itarget of radius , .
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fits .- 1,9, t.fi , is a probability density .
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If X is a continuous random variable with fy -- f , what
is TECH ?
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random variable function

glx) = gall is a new random variable .

Eg . X - Binh , p) is the number of successes in n trials
glx) = Xlw is the proportion of successful trials .
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Prepositions : for a discrete random variable
Elglx)) = § gcs) IP ( Xss) .

Bf. We know § !. pigix. {g
CX) -- t} -- µ

.

{X-- s)

My gig-- t

=?t Z PH
's) (disjoint

S :

gcs)--t

= Effs,# t
- PHD

"EE,⇒ 9
PHD

-

§



Proposition : For a continuous random variable X with
probability density fx ,
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Let U be a uniform random variable on la, bi .

Then
b

El U2) - J t fu A) dt = Sabata Bdt -- La . lgpl !
"

P
=b3-a3fuHy={Fa "

tsb
3lb-a)

o otherwise
=
a'tabtb
3- -

( he, bat , ECU! I =
'

g . )



Eg .

Recall the car accident linsurance example .
An accident causes $4 of damage teyeurcar, where
your insurance deductible is $500 . Ynuniflcloqlsoo )

.What is the expected amount yeupay ?
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